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And he heard the sound of the scribes calling, etc.

Overview

The 71wn taught that if a person heard the scribes calling out, ‘this person is divorcing
this woman’, he cannot use that v3 which they wrote to divorce his wife with it.
mooIn reconciles this ruling with a seemingly contradictory X na.
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The m1wn is discussing scribes who are learning how to write 7°0°3, as X959 11 states
in the Xm3 —

mooIn anticipates a difficulty:
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And even according to the one who maintains in the first 92 of 15219°% noon that
one may use the 7w7d of 70 which is written in the 77910, to erase it as her WP

scroll -
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Even though that the 700 N9 must be written 72w (for the sake of the v
process) and the 77730 (is considered as if it) was written 722057 (but not 700 QWY)

as the X973 there states, so why is there this difference between v3 and v n%°an,* which
both have to be written nnw?, and by v3 we say that 7420777 is 7109 and by 70 it is W —

mooin replies that even the 7"n who is 7°w2n by V10 to use a 77N, nevertheless -
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Regarding a v3 he admits that 725077 is 9100 as we explained in the second p=s,
and in the second P75 we are also %912 using a n''® as a va.

12,72, Our M5OI mentions this "T%n7%' as an introduction to the following difficulty.
2 The 77N requires to write for a I a scroll containing (basically) the w9 of VIO (in Xw3 Nwd) and then to erase
it. This 7" maintains that one can use the actual 7w"9 as it is written in a regular n"o.
3 See 'o1n there ar 11"7 who writes, Ta2nA% 1MWV X7 79 2°Wn "1 "0,
4 See “Thinking it over’ and the following 20> 7"7 'oIn [TIE footnote # 10].
3>x 1"7 ow 'oin. The reason for the difference, explains N0 there, is that by 700 the 373, who is required to write
the 700 NY°3n is not Topn if someone else writes it, and 77 X°1 RaNOH, however by a v, the husband X»non is not R’
9. See Lar 7"7 R,» 1217°v Moo for additional answers.
¢ This shows that in the very same case (using a 711n) a v3 is different from a 7V NP3,
7 See the bottom of 2,v°.
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Summary
noon distinguishes between the Wb requirement of a v) and that of 70 N

regarding 77n7% and using a 770 79D.

Thinking it over
nooINn is asking why by a 7v10 is the 7w2 n'"o, and by a v it is 2105 by 22910 ) ynw

P08 However it is easy to distinguish between the two,’ for by the 0>7910 who are
practicing it is obvious that there is no concept of Pw1°x ow? at all in their writing;
however when one writes a n"0 he intends that it should be "w> for whatever it is
used for (whether 771077 DX or VIO N9°31); how can we compare the two cases?!!°

8 See footnote # 4.
? See following 0> 71"7 'o1n on the '2 Ty,
10 See 18T R"WIN.
2

TosfosInEnglish.com



